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UNIT- 11 1
3. (@ Findthe Fourier series for f{x)= x+#x°, ~-n<x = 1 rtuonline.com

(®)  The urning moment T units of the crank shaft of a steam engine is piven for a series of the values of the crank ang} E{q
¥ gle gy

degrees:
(82107 30 | 60 [ 9 [ 120 [ 150 |5{1_[ ’
LT 10 32 | 8097 [ 7850 [ 5499 [ 2636 | 0

Find the first four terms in g series of sine to represent T. Also find T when § = 757
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Find a function y (x) for which j[x +{y') id'\“ is stationary, given that J-g, “dy = 2{0)=0= y(1).
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(b)  Show that the arc leneth between s Ints i '
R RNE O points e a plane s stationary when e curve iaini ' :
5 ul; : urve joining them is '
UNST - v ] g astraight line. (g
(8)  Show that the function f(zy-¢ ¢
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(b)  Findthe bilinear transformation which maps | | | ®
ans L imaps the pownts 2= 1§, -1 respective v st w =1 (1 . :
find the image of concentric circles [zl = r |[pr.-,hL v b=l respectively onto the points w = i.0. -1 Far this transformation
{a) Ifn:egratc- f(z)= \ +_i.\;}' fromA(l, o B(2,4)alone
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